PP — Xi X] acceptance

7=0.3ns T=233ns T =133ns T =2330ns
100GeV  0.0019 £ 0.0006 0.0047 + 0.0009 0.0018 4 0.0006 (8+4) x 1072
200GeV  0.0024 +0.0007  0.010 £20.002  0.0032 =+ 0.0006 (3+3) x 107>
300GeV 0.0026 +0.0005 0.016 £0.001  0.0039 £ 0.0007  0.0006 £ 0.0001
400GeV  0.0020 +0.0005  0.020 +£0.001  0.0037 +=0.0005  0.0006 %+ 0.0001
2015 500GeV  0.0018 £0.0004 0.023£0.002  0.0083 £ 0.0009  0.0006 £ 0.0001
600GeV 0.0016 =20.0005  0.027 £0.002  0.0070 £ 0.0008  0.0009 £ 0.0001
700GeV 0.0019 £0.0004 0.029 £0.002  0.0080 £ 0.0009  0.0012 = 0.0002
800GeV 0.0017 £0.0004 0.027 £0.002  0.0078 £0.0008  0.0014 4+ 0.0002
900GeV 0.0012 £0.0003  0.021 £0.001  0.0072 £0.0008  0.0008 4 0.0001
100GeV  0.0019 £ 0.0004 0.0041 £ 0.0006 0.0013 4 0.0003 (8+3) x 107>
200GeV  0.0026 +0.0005 0.0089 4 0.0008 0.0022 £ 0.0004 0.00019 =4 0.00005
300GeV 0.0030 £0.0005 0.017 £0.001  0.0040 £ 0.0006  0.0006 £ 0.0001
400GeV  0.0021 +£0.0004  0.020 £0.001  0.0048 4 0.0006  0.0008 % 0.0001
2016A 500GeV 0.0023 £0.0004 0.024 +£0.001  0.0071 £0.0008  0.0009 £ 0.0001
600GeV 0.0019 £0.0004 0.025£0.002 0.0082 £ 0.0008  0.0010 4 0.0001
700GeV  0.0024 £0.0005 0.029 £0.002 0.0074 +0.0008  0.0013 = 0.0002
800GeV 0.00154+0.0004 0.028 £0.002  0.0086 £ 0.0009  0.0015 4 0.0002
900GeV 0.0010 £0.0003  0.023£0.001  0.0075+0.0008  0.0012 4 0.0001
100GeV  0.0014 £ 0.0003 0.0038 + 0.0006 0.0008 4 0.0002 (7+3) x 107>
200GeV  0.0024 +0.0004 0.0073 +0.0007 0.0018 4=0.0004 0.00013 % 0.00004
300GeV 0.0027 £0.0005 0.016 £0.002  0.0033 4 0.0006  0.0005 4 0.0001
400GeV  0.0017 £0.0004 0.018 =0.002  0.0038 +0.0006  0.0010 £ 0.0002
2016B 500GeV 0.0017 £0.0004  0.020£0.001  0.0062 £ 0.0007  0.0007 £ 0.0001
600GeV 0.001540.0004  0.024 £ 0.002 0.007 £ 0.001 0.0007 £ 0.0001
700GeV 0.0018 £0.0004 0.024+0.001  0.0060 £ 0.0007  0.0010 £ 0.0001
800GeV 0.0014 £0.0004 0.027 £0.002  0.0081 £0.0009  0.0012 4 0.0002
900 GeV  0.0009 +0.0003  0.020 £ 0.001 0.006 £ 0.001 0.0010 £ 0.0001



